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y Amepur.®s, » ue cakyn muOTO sphva e ca npiiiMe @ orn
0CTAABI-THI €BPOVICHCKRI ADh:KABBI; 33T0 CH H nowhina Tyxh
TIPhBA.

2. Awearickor nbpol.

Mbpw 3a aawvmuans: Apgy = 3 wyra, wan — 36
aroina (== 1.57 aaxnre); Qyms = '/, orb #ppb, Han — |2
awiiva (= 0.525 ors aaxprh, Han = 0.30479 ors ap. meTps..
Cxuipii aHTA. ®YyTh € HpIATH W BH Poceik; cmopiags Tomra e

= !/, oTh pyce. camenp == °/ 0T APIWHNDL); JNUMD = A
orb @yTh, HAn = 10 aunin. Cyronyrmua muin == 5280

ayTa; MOPCka muag — 6090 wyra: 3 moperst muan = lieu
KAKTO H ®panify3ckei-ter 10 20 nHa | rpasyes orh exsaropa.

M%Eps: 3a moBphXHOCTH: Aips = 4840 | apapt, nan
(= 40 #p. apa | 47 canmiapa.)

MBpe 3a smberamoctn: Jdacws — 2 mv0Hna, uHan
= 10 kBaprepa (= 12000 xsraorpamma. wan == 1500 oxwr).
Keapwmeps — 8 Gymeaa (= 8.15 kman maperpapckni, Hau
= 2.9 exroanrpm): Oyuweas = 8 raaaona. Epups rasaoss
(raaBua epunnma) novbumasa L cebe 277, 274 ry6uy. aroiima
nphraeni BoAX. :

MEpst aa verao: Tpuio6ckblit ynars, van queps = 16
yauin (= 150 ppamose); ywuyin = 16 ppaxwm: apavma
= 24 rpana: epony = (64.8 muaanvpamma). Hewwneps —
100 tper. eynra (= 38 oxw); Touna == 20 nentnepa, nan
(= 979 ksrrorpamma, van = T64 okm).

Monerr: Bpoina-ta monera, (yHmv-carep iy, ch-
Apb&n 20 mmaunra; wuAunes — 12 neuca.

3AaTHA-TA BENECTBEHHA MOWeTa, 2uMed — (26.47 apan-
Ka); cysepenins — 20 mmanara (= 25.21 #p.).

CpbOpna-ta monera, kpoyns = (5.80 @p.); mo.ayKpona
(= 2.90 ®p.); wwaauney (= 1.16 @p.) moayuauney (==
0.58 #p.).

3. Pycerot mbpot.

Mbpw 32 panmunk: Muan = T sepera; sepems =

500 camenn (= [.06 knaomerpn); cameny = T syurose =
3 apommna (= 2.317 merpsr, nan = 3.0% aaxmn); @dyws =

T T ——



